PROSPEKT

MANAGEMENT CONSULTANTS

INVESTMENT ANALYSIS

If you are considering investing in your business, a financial model can help understand the likely cash flow that will
result, and more importantly the financial risks and rewards if the business environment changes.

The example below shows a financial model to expand a retail business by opening multiple new stores.

ERG(M)SCESEK-[ Example Retail Investment Dashboard

Projected Sales and Cash Flow

BREAK EVEN CASH FLOW STATEMENT
$000'S Year0 Year1 Year2 Year3 Year4 Vea15< CaSh F|OW
Sales 2,352 2422 2,491 2,561 2,631 YO ur p roj ecte d cas h

Operating Expenses

Costs of oods sold o 2 2 2 flow statement for a
Rental Costs 450 464 478 492 507
FTE Costs 474 488 503 518 534
" = five year period
Variable Costs 81 83 86 88 91
Advertising. 141 145 149 154 158
Shrinkage and Dilutions 235 242 249 256 263
Total Operating Costs. 1,974 2,022 2,069 2,118 2,168
EBITDA 378 400 422 443 463
Tax (101) (81) (65) (52) (41)
EBIT 277 319 357 391 421
Tax (61) (81) (99) (110) (118)
Financing Costs. (58) (30) (3) 0 0
NPAT 157 208 255 282 303

Capital Expenditure

Fit Out 374,000
Initial Purchase of Inventory 131,29
505,29

Contribution Margin

CONTRIBUTION MARGIN 000's
Zﬂeassmcludmgdlsmuntsand shrinkage s l,i;; lm < contribution Margin
Gross Profit 1,924 82%
R = = The amount that
e 8 = = each product
Depreciation $ 25 1% . .
S ! s a contributes to profit
Other Variable Costs $ 81 3%
Contribution margin $ 352 15%
Stock Turn Analysis
SKU's Total Sales Vol Sales Vol Sales Vol Sales Vol Total
Product A e 540 = 360 =EE 504 =l 288 =EH 0 s::s; Qua]r;rli Q“Bll‘;;ll Qnalrvt:;lz Qualr,‘;;l‘ SMklI:'; StOCk Tu rn
e o T B = R s = B m o oD Your projected stock-
Product D 432 312 464, 160 120 1488 9,647 9,647 9,647 9,647 2593
o oo o : - turn for each product
i - - - - - TreD P and store
Break Even and Profit
BREAK EVEN ANALYSIS SENSITIVITY ANALYSIS
Format A - Cash Flows and NPV Change in NPV with +/- 20% Change in inputs er SenSitiVity Analysis
SErD How your profit and
$400,000 - H
— _ e return on investment
- _— Captalcoss is impacted by
P L L L = changes in the
= aut|aw2|ar-3awa|awt |ar-2 | aws| 4| awt a2 |ar3 | ara vt ar-2| aws|aia) art a2  ars|are Operational costs
g B0 Yeart I Yo vens I Vears I Years | —w business
© (5200,000) —
smomn) e environment. These
B _— - 751,‘500 -$1,000 -$500 $0 $500  $1,000 $1,‘soo H
s | I s could be either
(5500000 ? adverse or
Net Present Value (NTI) of this investment $ 371,815 favourable events
Return on this i llent (IRR) 38%
Break Even Analysis Return on Investment
Shows when you will Shows how much profit you
break even and begin will make in real terms (i.e. in
making a profit. today’s money), and the

effective annual rate of return
on your investment




